A = sed B B BTVl I Z= £ %
SHI6EE KRTILFENPER FRIBEEE R BERC (T
48 5 A 6 A 7 A 8 A 9 A 10 A 11 A 12 A 1 A 2 A 3 A
EEE: sem a3 §5EElem % (JiEee a3 (§EEew 7% talm 7% D5Eew 7w (JEEem mF 5iiee a3 |JEEew 3% |§EEew 7% (ke a3 §5%
FEEIARE BEhRE ]
17| massd /1% peigEkzE |1 1|+ K| /| /| 1| |/hchEHEDH | 0| 5|O| 1|K /1|8 ® /| /[ 1| % |[IRERER |k /| /|12 Bz |0 1|8 ® /| /| 1|x|TE .. AVAVARNES 1 1|+ ®| /| /
e | AREAT
e | e n 24 YCW #
2|k || BESEQ /| 2|x 0 28 | hXEEE (K| /| /| 2]|% 0/5/0| 2| /| 2|8 0 é,|271< 0/6|0|2|x % 2(A 0/5/0|2|x ®| /| /|28 2|8 K| /| /
= A= SR P %1 IEH;‘EI*I # 3% ?r:?‘:tﬁﬁ? # = g g =
3|k|| BELEO /| 3|&|FEREEA | 3|8 EEmEa 0|45 3% 0/5/0| 3| /| 3% 016y 3% 0/6|0|3|E|3x{tD A % 3|k | a2 HEE |0/5|0|3% v K| /| /|3|R|ATHEREA 3|7 0[50
=
= s st " AgE— F Bl = o | RE—IRE "
4% || BERE® /4|2 |H#EYDAE % 4|k 0|6|0|4|x|&Ea>s—)L [3]3|0| 4|8 /| 4%k 0/6|ul4® 0 %4)%1)&%{*5 * 4|k 0/6/0|4|x % /4A(*:R) 0 4|k 0/6[0
. s BERHK
5¢| BELEG /|5/B|CELDHE * 5[k 05|05 0/6|0O|5|A /|5|1%|y v 0 %,Isiyﬁncbis}uﬁ ®| /| /]| 5% 5K 0/5|0|5|8 *| /| /| 5|k 5|k 0/5/0
£ S A HA AL c L3
6+ /| 6|8 [#REKE % 6| mEgD 0|6|o| 6|t % /| /] 6% /| 6|2 ol6|7|6la| REROB i /| /] 6k 0 6|2 0/6|o|6 g | SFHMRR | 1,5 ol 6| 0|60
w Qo —p iR —5—5 e
7la" /| 7|% 0 7|& 0|5/0|7|E /| /| 7|k| sEEES AWIES *| /| /| 7|8 | rERES 0| 5|0 7|% 0 7|t AWAVARIES 0 g7ﬁ 72| AIERAR | 0)5]0
g|g [FTER M 8k mgmem |0 8|t (/| /|87 masme |o0|5/0|8|% /|8lm AR 0|5|0|8/% 0 8|m (/| /| 8% 0/6|0|8|+ 8|+ v
SH6EE AR & =7 BRE |
s |1 FHBE R # SEIE X + | oEnt EERBMEASR ENTAk
gkﬂiﬁ’%?ﬁ.ﬂﬂ% §9KFHEP%.%R1E 1 9|8 ®| /] /] 9% 0/6|/0|9|& /gﬁiﬁggﬁéﬁ%1 Ol 9|k 0]5|0| 9|t [vEM=-HEDE |k 9(A 8% [1|5|0|9 R ANMIB AR 115/0| 9|8 9|8 *®|/|/
10k | 10ER = oz " & BEXEDG
DERRE O|10]% 0 08| BELEE® |0]5|/0]|0)k 0| 6|00+ / |10k 0|6|O|10[k|y 0[5|0]|w0|E % 10k 0|6|O|0]& 0|6|0]|10|A 108 0/5|0
—+ AT 47 DAY
H|&|EHTRAE Ool1|£ * x| EERBRZ 0|5|0O|11|k peravs—nitmt | 1]5|O|11|B | (LD E VARIES 0 6|O|1|&|AEE 5 ?;T” A|HEHEHR 0 1|k |7ravit 1| 4|0|11|x K| /| /|n|x || BEZRSOAR 1|k 0/6|0
SRRIE .
12|& Ol12|8 2 127 0|5|0O|n2|& 0| 5|0|12|8 || IEEEHKA /12| & 0| 6|0O|12|x | /| /12| % 0 12|& 0| 6|Of12(m WAWARHES 127 0(5|0
1EARERE v
13|t /(1318 il 0 13| K | HAp#ARIETX | 1]4|013|£ MR BRR *® / 13|k /|13|& 0 Ol13(8 *® / |13k 0 13|% 0 o|13|8|FkADA " SWAWARKIES HRT R 13| & 0/5/0
# = =Y, s il o - ERSFMRER
12 22k . EBSE TR
14|18 14K || ZfgEgs 14|% 0 Ol14|8 . 147k 14|+ 14| B | RTR—2 X 0 141 | 7oy Inans 4K 0 O|14|& 14|% 1140
/ EEs= |3 5 (FResr) ® /| 14/7 / ® / AR—YDAH |#& /|14 7" Hognavsak | K /|1 AEe AL
158 | BELE0 O] 15|k 0 15|+ | AR | /| /158 |dEDA K /|15|& /|15/8 K / |15k 0 Ol15|% 0 15Ell K / |15]7k 0 O|15|£ 15|+ ®| /| /
|
- N o =
16| % | PramAS EH2 o|16|% 0 16| B l . /| /| 16| x| ERRFMZRS | 1150|162 /|16|A | #HEOR 1| /| / 16|k 0|6|0O]|16|x tk 16|A|BmESE® |0]5|0|6% 0|5|0]16|E 16|8 | ELTBBER |3]0| 7
BB Kk v L
=k FRERKE
177 ol17&|v 0 7|8 | IRBEKRER || /| /17K 0|6|0|17|£ /17| % 0| 6|0|17|x 0| 6|0|17|E * 17|k ézgg‘;ﬁ 0| 4|0|17|& 0/6|0|17|A 17|A AERAREE /17
P L2
18X | EEENRE Ol18|+ % 18|k | IREARER |tk /| / |18k | 12584 EK | 1|4|Of18]AY / [ 18]k 0|6|O|8& 0|6|0|18|A BMA=E 0 18K 0|4|O[18]x NWAWAREIPS 18| % K /| /
J—*AT4FDAY J—*ATATDAY
19|12 | —FHLEFFH Ol19/8 *® 19]5K 0|5|0O|19/& EL%'i:f**“%’dﬁ; ®|/|/|19A 2-*?%}1&?‘%;‘& Eil 19K g AL hERAZ | 0] 6|O|19|x BHA K| /| /19| % 0 19| A 0| 4|Of19|B K| /| /|19|%k 19|k ® /| /
=4LS 2 cha g BEREO =l RAT BmIOvIRE
EREEMEAS = 5 oz
20|+ /|08 mass 1 20| % 0|6|0|20+ | /| /|20 % Floe 0|6|0|20lm | /| /|| EEEREE 1o 20|% 0| 4|0fu|n|BREHD 14|05 0% Eaoa K /|7
HERERA (~6/14) v = , SR v Bchss 2 kR
HRT AR % LERBEMEAR HMET R PP
218 X | H B 0 UES Ol21|8 IS w2 5 A | Adix 1 Of21|\ & |2 aa |1 21|t HES 0|6|O|21|& = 21| &
/|21 |% | mEMH 2| ernmaa | | | /| /]21]7 w21 E | BHHAR Jl: W /| /|27 e WO /| /]2 2% e a) W/
"E%‘E?ﬁ‘&' # l
2|8 | £Ht4EMEES O|22|%k 0 2/t | /| /|22|B || Y EmEm K /| / |22\ R |EATRE w228 MonB *| /| / |22|x 0| 6|0O|2|& 0 228 ®| /| / 22|k ' Pz E(F 0| 6|0O|22|x 2|+ ®| /|7
= =5 = Bl =
23| % | RigE (— %) o|as|x | wHas 0 2|\ 1| /| /|28 % k[ /| /|2)%| reoxEis ooln pEtkmE | /| /oo | FEFER i /|l | gppmson | * n|p| S 2B 048 nlx - 0|6|OjsB REFER 23| 8 * 71/
El AR (=) ERER T | (—FT A
o g N P o
24| éﬁ%,’g;ﬁ Ol24|2 |wimaams | 2 2|8 0|5|0]|24|5k s o) | /| / |24| 2 / |24 % 0| 6|0]|24|% 0|6|0|u|B % 24|k | 2% HARR K 1 ’; 24| E;@;&g 0|4|0|4|A |IREWKE %48 || IREBKRZR K|/ /
FRFIRIKRE
gt Py & A e ke P
25| K Of25 [7 25|k - 0| 5|0|25|& PO [7 /|25|8 / |25|7k 0 Ol25 0 Of2s 0 25(7K i /|25 1% / |25\ % 25| K w|/|/
v
26| | NFH&E2 Ol26|m * 26|k 0| 5|O|26|2 ||mzamzs= || K| /| /|26 A Of26| & |[ehgr AdE4T=t | 1| 4| O|26|+ IR TIEER  [4K| /| /|26|% 0 26| K K| /| /|26|8 K| /| /|26|k 26|k ®| /| /
|
27| /27|18 0 27| K 0| 5|0|27|= v | & /27| % Of271& 0 02751 [/ /|27|5k 0 27|& " /27|18 0 Of27|x 27| K w| /| /
28|8 /28| % 0 28|& (Y 0|5|0|28|@ K| /| /28| Of28|x |fehzrgr A |1K| /| /|28|A | BEERED |0]5|O|28 & | EfERREHE |2 28|+ e /28| % 0|6|0O|28 2 |EELHED 28| & ®| /] /
‘ FEIT
20| A |FEFIDH VAEIES 0 29|t | £BFEEREE (K /| /(298 | /| /|29|% O|2|8 i " /| /|29|% 0| 6|O|2|& 0 29| K| /| /|29]% 0/6/0 29|+ w7/
|
30|k | M %K B H Olso0|%x SR 30|B l x| /| /|30 % k| /| /|30|2 O|30|A [IRBIAERB  |1K| /| / |30k | Brzli 0|6|O|30|x * 30| A K| /| /|30|%& 0/6/0 30|8 K /| /
= E
31|& | BEEEI% 0 31|k 73 31|+ 31| K 0 (@] 31| 73 31|& 0 o] 31| A *®
L K\ / / (—EFRRE) v v ! v 2
mxan 16 21 18 13 10 18 20 20 17 19 18 11 wexayl 201
e 73 101 91 66 55 103 108 103 81 105 102 52 wizzen| 1040
e 7 8 2 6 2 2 6 3 3 2 1 4 wrsy| 46
wry 80 109 93 72 57 105 114 106 84 107 103 56 #B5%| 1086
e 14 20 17 13 5 13 18 20 15 17 18 10 =mwesu| 180




